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G|HQVUWqQHV[	7IQIO	mOTRjQS	yjQTOPqx	6H[YIV[	7IQIO	mOTRjQS	�URvOHVRIqK

oiOHO	iQvO	ZOOU	VIYTROT	IiO	SR~RT	V~OjIHQ	WJ	OHqIiHWjqIOV	POPZHQUOV	QUT	SR~W~HWIORUV	RJ	iRgi	TOUVRIq	GbpfzK	RU	IiO
~QIROUIV	�RIi	RVjiOPRj	iOQHI	TRVOQVO	G6fzK=	�RIi	RIV	jWPZRUQIRWU	�RIi	QHIOHRQS	iq~OHIOUVRWU	GyfK	QUT	TRQZOIOV	POSSRIYV
GzmK	WJ	IiO	<	Iq~O	G6fz	�	yf	�	zm	<K�	oiO	jWP~QHRVWU	WJ	RUTRjOV	�RIi	Q	gHWY~	WJ	iOQSIiq	~OW~SO	iQV	ZOOU	jWUTYjIOT�	6U
<3	TQq	~OHRWT=	M	QUT	3<	PWUIiV	WJ	jR~HWJRZHQIO	IQ[RUg	RU	IiO	~QIROUIV	SR~RT	V~OjIHQ	WJ	OHqIiHWjqIOV	POPZHQUOV	�OHO	TOVIQZRSR�OT
�RIi	jiWSOVIOHWS	RUjHOQVO=	TOjHOQVO	WJ	gOUOHQS	~iWV~iWSR~RTV	QUT	IiORH	TRVZQSQUjO�	6U	bpfz	IiO	jWUIOUI	WJ	jiWSOVIOHWS	�QV
TOjHOQVOT=	RU	IHOQIPOUI	�RIi	jR~HWJRZHQIO	RU	<3	TQq	SR~RT	V~OjIHQ	WJ	OHqIiHWjqIOV	POPZHQUOV	QHO	JWHPOT	QV	RU	iOQSIiq	~OW~SO
QUT	HOQji	IiO	PWVI	~WVRIRvO	jiQUgOV	RU	3<	PWUIiV	RU	~QIROUIV	�RIi	6fz	QUT	f67	�	yf�	6U	bpfz	IiO	jWUIOUI	WJ	jiWSOVIOHWS
RUjHOQVOV�	oiO	jWWHTRUQIRUg	HOZYRSTRUg	WJ	SR~RT	POIQZWSRVP	IQ[OV	~SQjO	WU	IiO	SOvOS	WJ	POPZHQUOV	QUT	bpfz=	IiQI	jHOQIOV
IiO	jWUTRIRWUV	JWH	PQ[RUg	PWHO	QjIRvO	JYUjIRWURUg	POPZHQUO	OU�qPOV	QUT	RUjHOQVO	RU	HOvOHVO	IHQUV~WHI	WJ	jiWSOVIOHWS	IW
SRvOH�	niHWURj	iq~OHgSqjOPRQ	RU	~QIROUIV	�RIi	6fz	�	yf	�	zm	WJ	IiO	<	Iq~O	QggHQvQIOV	UOgQIRvO	jiQUgOV	RU	OHqIiHWjqIOV
POPZHQUOV	QUT	bpfz	RURIRQSSq	QUT	TYHRUg	IiO	~HO~QHQIRWU	IQ[RUg�	sU	IiO	ZQj[gHWYUT	WJ	SR~RT0jWHHOjIRUg	IiOHQ~q	�RIi
jR~HWJRZHQIO	IiO	TqUQPRj	SR~RT	iOPWVIQVRV=	�iRji	VYZPRIV	IW	VOQVWUQS	QTQ~IQIRvO	jiQUgOV=	RV	JWHPOT�
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